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Fluid of viscosity u passes through a permeable two-dimensional porous rock from
the point z = 0 to x = L, in the vertical region 0 <y < H.

The permeability has value k = ko + k1 y/H.

If a positive pressure drop AP is applied from z = 0 to x = L, calculate the mean
travel time for fluid to migrate across the layer. You may assume the flow is all directed
parallel to the z axis.

Calculate the effective macro-dispersion coefficient D,, associated with the shear in
the flow, and describe whether you expect this to be significant in the migration of the
fluid from x = 0 to x = L if the pore scale dispersion coefficient is D).

In the case that the dispersion controls the mixing in the flow, derive an expression
for the concentration with time of a tracer arriving at x = L if the tracer is released into
the flow at x = 0 at a constant flux for ¢ > 0.

A volume of fluid V' per unit length along a fracture fills an aquifer during a storm
as fluid flows down a fracture and into the aquifer, of permeability k. If the fluid is then
able to spread into the aquifer, as a two-dimensional flow, and also flow back into the
fracture, show that the dipole moment of the flow, D, is conserved. Here D is defined as

D :/ hxdx
0

and h(z,t) is the depth of the flow, with x the perpendicular horizontal distance from the
fracture along the aquifer. You may assume the aquifer is initially dry, has an impermeable
and horizontal lower boundary, and the flow only spreads in the region = > 0.

Show that the volume of fluid V' decays at a rate given by
1dv 1

Vodt 2t
and show the solution for the shape of the current h(z,t) has the form

h = at®f(n),

= b +en'/?,
xT

dth’

where a, a, b, ¢, d, 8 are constants to be found.
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COs is injected into an aquifer with a sloping boundary, and takes up a shape

_ Jax O<z<lL
" la(@L—2) L<z<?2L,

where x is the distance along the sloping boundary and A is the depth of the current in the
direction perpendicular to the boundary. The COs migrates upslope with speed w under
buoyancy, and as the tail of the current migrates, a fraction s of the COg is left in the
rock owing to capillary retention.

Show that the current satisfies the relations

Ooh Oh Oh

oh oh if oh

Using the method of characteristics, draw a diagram to illustrate how the current
height evolves with time as it migrates upslope. Hence calculate the region of the formation
below the upper boundary in which COs is trapped by capillary retention.
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Chemical of density p + Ap is added at a volume flow rate s to the top of a
cylindrical reactor vessel with a radius d and a vertical axis containing fluid of density p.

Assuming the fluids mix as a result of the buoyancy force, use dimensional arguments
to show that the mixing is driven by a velocity of the form

dg V2
~~ d
o= Ee]

where dg’/dz is the vertical buoyancy gradient in the reactor with ¢’ the reduced gravity
of the dense mixed fluid relative to the original fluid in the reactor. [Note that in this
expression z increasing upwards — it is convenient to denote the top of the reactor as the
point where z = 0, so the reactor vessel lies in the region z < 0.]

Show that the instantaneous flux of reduced gravity in the reactor vessel is given by

F=d— |d :

dz [ < dz )
Show also that the equation for the rate of change of reduced gravity at each point in the
reactor, in the case that there is a steady upflow @ of the original fluid in the reactor, is

given by
QU p 2| ()
0z |\ 9z ’

A steady state solution to this equation exists in which the descending fluid is
arrested by the upwards flow such that ¢’ = 0 below some height z = —H. What condition
must dg’/dz satisfy at z = —H? Determine the steady solution for ¢’ in —H < z < 0.

Calculate the distance H in terms of the volume flux of dense fluid supplied to the
top of the reactor (), assuming that at the top of the reactor all the dense fluid supplied
from the source mixes downwards by the turbulent diffusion.

Determine the effective eddy diffusivity of a passive tracer which would be mixed
downwards by this flow in the region —H < z < 0.
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The floor of a naturally ventilated building has a distributed source of hot buoyant
fluid with heat flux @ and negligible mass flux. Openings of area A are located on opposite
sides at the top and base of the building. Wind blows over the building generating a
pressure difference AP across the building.

Derive an equation for the temperature of the building relative to the exterior for
both the case in which the wind-generated pressure difference acts in the same direction
and the case when it acts in the opposite direction to the buoyancy force.

For the case in which the wind-generated pressure difference acts in opposition to
the buoyancy force, there is a range of conditions for which there are three solutions to
the flow problem. Discuss the stability of these solutions.

Explain how the system evolves if the wind speed increases or if the heat flux
supplied to the system decreases. Do these have the same effect?

In a naturally ventilated space a point source of buoyancy at floor level generates a
turbulent plume with buoyancy flux B and negligible mass flux. The space has height H
and two openings each of effective area A, one in the floor and one in the ceiling. Show
that a warm layer with buoyancy ¢’ develops in the upper part of the space a height A

above the floor where
A\/g'(H — h)/2 = AB/3p%/3

B=Ag¢\/g'(H—h)/2.

Use these expressions to derive an equation for the height of the interface.

and

In some cases, the source of buoyancy also supplies a volume flux (). Evaluate the
critical value of @ for which the natural ventilation flow is blocked, so that there is no
inflow through the lower opening.

[You may assume that the volume flux in a turbulent buoyant plume at a height h
above a point source of buoyancy B is given by ABY/3hr%/ 3]
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